Seat No. / Enrolment No.:

GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Engineering — SEMESTER — 3 (NEW) - EXAMINATION - Summer-2024

Subject Code: 4330702

Subject Name: Relational Database Management System

Time: 02:30 PM TO 05:00 PM
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Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of non-programmable scientific calculator is permitted.

English version is authentic.

Define Fields, Records, Metadata

(ses31, 35153, Nardela cululfld 52
Differentiate
i) Data vs Information
i) Char vs Varchar
dsldd ¥l
i) 32l dl. Hiledl
i) 32 dl. A&

Explain DDL commands. Create an employee table using at least 3

different datatypes.

DDL $HiSy duodl. #iui 3 [dldy Seleleusl Gudlal s3la

NG| 204G weildl),

OR
Explain DML commands with suitable examples.

DML $HiS¥ U1y Gelsl Al Yuomdl.

Define Schema, Sub Schema and Instances
LRl 52, 1L, AHS|HL, FoeadlY

Give syntax and Examples of any 4 SQL Date Functions.

S16 UL Y SQL 52 §521o ol R{25U Wal Gele L AUl
List and Explain SQL Set Operators with Examples.

SQL A2 wlued «fl L€l tletld) wal Gelsl UL yHoxd).

OR
Describe DCL commands with example
DCL o} G&ls0L U1 d st 530,
Give syntax and Examples of any 4 SQL Character Functions.
S16 UL Y SQL 53522 §521o ofl ({25 A Bele ¥ (Ul

Define Subqueries. List types of Subqueries. Provide each type of

subquery with an example.
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AWSAI Y AuARld 5. HHsAZLAetl UsIRlell YR Welldl. €35
UslRef]l 4o15d3] Gelel U1 A ().

What is Outer Join? Give example with query.

ULB2R A1oel Q) B2 5A7] U1 GelsWL H[U),

Explain Domain Integrity Constraints with example.

GeleL AL SINe §eRY1E] sy UM

Create a schema with following details. Two entities, Employee and
Department. Each employee must have a unique employee id and there
cannot be an employee without employee-ID. The salary of an
employee cannot be more than 50000. Each department must have a
name upto 20 characters max and length name should not be less than 4
characters. Each employee must work in some department.

o{lAsf] (A1l AL WIHL Gielld). A ), sHUR] e (el
35 sHUR Ul Weted sHURD wIOS] Sl wildUs © uid
sHYRL w18S] (Aetl S18 sHURL S1Y 26AF «lsl. sHUlRledl ualR
50000 &l dy ol 16 2%, €35 [A1ole] otlH HETiH 20 W&R] M «llH
ofl duils 4 wWerRlell wlY g HSA oSl €35 sHURIA AYys
[ACLIIIHE S1H 527 % A1)

OR
What is Self-Join? Give an example with a query.
d-%15181 2} 87 5A3] U1 BeleWL AU,
Explain Entity Integrity Constraints with an example.
GeleL UL W[23] ©RY12] seeay UM,

Write a sequence with all options and show with example how to use it
to insert unique values in a table.

oyl ([asedl A1 Risded quil el 2edH Ylels Y&l elwd sl
H[2 dell GUALdL 5] Tld s d GeleWL AL8 Wdld),

Define View with an example.

< o AL 520 GeleWL A8

Define PL/SQL. Explain PL/SQL basic structure.

U1 [Ad 52 PL/SQL. PL/SQL HAN@{d HL101w qHmdl.

What is Cursor? Write Types of Cursors. Write a sample program using
cursor.
sU 9 87 sUell USIRA duil. sAel GuUlaL sl Anue YA
quil.

OR
How to create an Index and write Advantages and disadvantages of an
Index.
o554 3l ld vleilad] uel SedsUeil §lAUel W AR§IUEL QUi
What are Pre-defined Exceptions? Explain any 2 of them.
yd [AdlRd wudlel 9f 872 duiell s1uBl 2 Yl
What is Trigger? Write types of Triggers. Write a sample Trigger
program.
(2912 9] B2 [2o1e1l USIR) dudl. GElEQL U (2912 V1AM udl

Explain Conditional Control Structure in PL/SQL with example.

GeleL U1 PL/SQL Hi 5o52leld 5216 25U HHdl.
Write advantages and disadvantages of Normalization.
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Explain 1NF,2NF with Example.
GelsL 18l INF,2NF yHlcl.
OR
Explain Iterative Control Structure in PL/SQL with example.
GelsL U1 PL/SQL Hi Yetla(dd (=3l Hio1u] uHomdl.
Design and normalize a schema as per following details.
A Student has id, Name, Multiple Mobiles, Department Name,
Department_id. Student may stay in Hostel. Each Hostel has an address
and Hostel manager Name.

o{|As{] (cAdll) Yool 51U (S8t Wl HIH Y Weild).

(Gartell A w8S), oM, oigldy Hlold, [(Aetdle i,
[GeioL w1SS) 8. (aiell lRaui 6] s, €35 SlRdq] URelly
Ul €124 N oM €1Y B.

Explain requirements for 3NF. Give an example of tables not in 3NF
and how you can convert to be in 3NF.

3NF Hl2efl eRULdl AM1d). 2HE] of BeleW (U] B 3NF Ui
sief] U dB 3NF Ui 5l 2ld 2UidRd 53] 215] 9
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